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gtenferar & fad v : Instructions for the candidates :

1. A= OMR IT U uv orgar |- Candidates must enter his /
her Quesﬂon Booklet Serial

WY iea®T 9% (10 I F) Ny (10 Digits) in the OMR
Rra? Answerf Sheet.

2. qheme gurgya 97 vl # g 2. Candidates are required to give

their answers in their own words
é-" as far as plracticable.
:3_ E;rff;:ﬂ K ira g,rf.@qz? o ﬁ# gT iF 3. Figures in the right hand margin

. indicate full marks.
quiies fAfeee e & .
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4. T F g Ta‘q,- vgd & fw 4. 15 minutes of extra time have

15 M= @7 sifafte ang f&ar mgr Leen allotted for the candidates to

3, : read the questions carefully.

5. ¥¢ W¥YF §1 @vel § ¢ — mug-ar 5 This question booklet is divided

09 WUZ-T/ into two sections — Section-A

and Section-B.

6. WUT-7 ¥ 80 Fglvw wvv ¢ O In  Section-A, there are

. . , - 80 objective uestions; out
4 & =T 4ot 7 Fww 3w ,type !

of which any 40 questions are

&1 v@F & fow 1 9w Pt &

to be answered. Each question

afr i Wit 40 @ F T carries 1 mark. I a

candidate answers more than

HT IOV 30T & & TT 40 A F
40 questions, then answers of

mwﬁmﬁmmm ‘

) first 40 questions will be

YT FF T OMR ITH-97% H
evaluated only. For answering

e @ et faweq @ et/ w1t these darken the circle with blue /

black ball pen against the

gier 97 @ W1 et ot mE F

correct option on OMR Answer
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EgeAv / A et / &g ) - Sheet provided to you. Do not

gA NP FT OMR IHT-UTF ¥ use whitener / liquid / blade /

nail etc. on OMR Aiuwe:; Sheet;

' otherwise the result will be

R 3T gl treated invalid.

7. @US-T H 24 &Y g g & 7 In Section-B, there are

: 24 short answer |
79 8 gy wifdw e &, 8WvT pe
questions. Out of these, eight
[WHET A & U9 8 Wy wWa . R
: . o questions are from Physics, eight
frarT & &1 g% fawg (wifas : ' |
_ . questions -are from Chemistry

_ ’ Ke Eﬂa and eight questions are from

faar) 4 W_-W el & I Bio!ogy. Four gquestions are to be

3 &1 yeF & forw 2 3w PR - answered from edch subject
$1 w7 » WWlf ﬁfhf ~ (Physics, ‘Chemi.stry and
| L . 'Biology). Each question carries
it w7 B2 o & frd @ -

2 marks. Apart from these, there

2 gy wifaw e &, 2 W |
_ are 6 Long Answer type
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: aﬂa' questions ,',; which two question,
NI s & od 2 nvew

r

cach from Physics, Chemistyy,
faomr & &1 wifr wrer & melw «

and Biology are there. Long
M I www & fv s 3%,

Answer lype questions frop,

YW Y o7 Wl e & e

Physics carries 6 marks eqch

5 3F fFyifia & g v

and from Chemistry and Biology
(Mo® ey, vy vE carries 5 marks each. Answer of
g ?%'iﬂ?) g @'—@‘ v FT one question each from Physics,
Iov 2 Wﬁﬁﬂf 3 | Cﬁemfstry and - Bilology s

| | compulsory.
8. fFat gar;,r;r & S'F?Fig?ﬁar 3usvor 7 8- Use of any electronic applz'a.nces is

strictly prohibited.

L/D112A
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MUY - N / SECTION - A
Hﬁf-‘lﬁ V¥ / Objective Type Questions

73 W4T 1’ 80 7% axyre v &1 g @ At a0yl &7 3w 3 A

WF w¥T & arv aw fowew Ry e § ot @ vw wdt b o g 9
T W7t fawew w1t oMR ¥z v RifRaA wF)

40 x 1 = 40

Question Nos. 1 to 80 are of objective type. Answer any 40 questions. Each
question has four options out of which only one is correct. You have to mark

vour selected option on the OMR sheet. 40 x 1 = 40
P

_/}.// TE 1 TYE Ieae 3T FEied § SF Y 2
now 5
(C) ¥W=RE | (D) W@g Iy
Which of the following is the major excretory organ of human ?
(A) Blood , (B) Kiancy
(C) ~ Pancreas (D)  Sweat gland
fr @ @ Rreedt i @ wifd @1 e FA ¥ 2
(A) 1 (B) g
€ & T
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Which of the following is a hormone secreted by pituitary gland 7

iA)  Thyroxine

() Growth hormone

3 N w R o g

-’

€ ugs

(B)

(D)

(B)

(D)

Androgen

Insulin

L2 1E sl

i @ A

Male reproductive organ of a flower is called

(A)  Stamen (B)  Pistil
(C) Pefal (D) E ‘None of these
4. frEesmaad
J?' o | B wRiRm §
©  Frewfrr i Dy TR
Binary fission occurs in
(A)  Amoeba @ Paramecium
(C) Leishmania (D) All of these
(L/1)112 A XSP-5512 Page 6 of 44




S. *grqa;ﬁ-a%

G B s g

€ B O R

Gametes are

(A)  always haploid (B)  always diploid
(C)  always triploid [lj) any of t.l\e?e
6. G’Iﬁzi@ﬁq ?
(A) mﬁlﬁh iG] (B) qﬁ FEH Zitit
(©) qﬁ: i . - (D) VSRR
Somatostatin is
(A) emergency hormone (B). growth iﬁhibitor hormone
(C growt.h hor_mone (D)  cytokinin

7 mﬁmmﬁmmmﬁmﬁ

(A) A w

(€ TEWGTE (D) e
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The structural and functional unit of kidney is called
(A) Bowman's capsule "(B) Nephron

(C)  Glomerulus - (D)  Ureter

8.  WHY Hfitass = walfus fomfaa sor

(A)  Agem B) W&
(©) ﬁiim (D]. U

The most highly developed part of human brain is

(A)  Medulla ' (B)  Cerebellum .
(€  Cerebrum "~ (D) Pons
9. T W W fhw W Pl s & 2
| (A)  HAeeHS (B) ADH
(C) orRT=ET (D) SEnA
cpﬁcentraﬁon of urine depends upon
(A)  Melatonin " (B) ADH
) 'I;hyl:oﬁne | (D)  Vasopressin
wwmamEdy
() e B R
© e e oy ¥ w1 fafrg
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The main function of stomata is

(A)  Nutrition (B) Transportation

(C)  Photosynthesis (D)  Gaseous exchange
11, usht @ annm:s' FUEE
- STy 3 (B) ma af
- (Cp e 3 v
Wings of birds and.bats arc

(A) Vestigial organ (B) Homologous organ

(C)  Analogous organ (D)  nonc of these

/mwmmﬁmﬁnn%ammwmz ?

A) A \__[a}/mrl—nfaﬁ
) wifEs (D)  WIEEAIA

Which one of the following proteins is responsible for the red colour

of blood ?
(A) Heparin (B) Haemoglobin
(C) Thrombin (D)  Fibrinogen

(L/1)1 12 A XSP-5512 Page 9 of 44




13 T s ) sf #) den A E
A B 22
(€] 23 (D) 24
The number of pairs of autosomes in human is
(A) 11 (B) 22
€ 23 D) 24
14. W%Wwﬁﬁm%w%mﬁﬁﬁﬁaﬁﬁmwg
(A) SRy (B) faraRor

(C) oSty (D)  Sewsid

The exit of water in the form of vapour from the aerial parts of the

Plant is known asg
(A) Diffusion (B) Osmosis
(C) Transpiration _ (D) Excretion

15. mghtﬁaaﬁm?iﬁﬁmﬁwmhﬁmﬁ

(a) e B)  w

(C) diem D) e
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A : .
& blue (B) green
(9) e (D) red
}6/@ A el & T weh e e
A) THEE ®

() 3Im&m | w

The space in between two nerve cells is called

(A)  Axon B) Dendrite
(C) Impulse (D) Synapse
\7& MRS & ST
qk)_/@F e | (B) TH w@art

(C)  TH Ferusial D) Y
Mushroom is 3y
(A) * a parasite (B) an autotroph
(C) a saprophyte (D) an algae

18, afder WTTE
A) S ol | B) YHE
(C) ©q FH (D) 3SR
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19,

20.

21,

Style is a part of

:
A B) Stamen
(A) Gynoccium (

(C)  Filament o s

R H FaRe wm &

@ | S

C) R D) T

The hardest part of the tooth &

(A) Pu-lp; cavity (B)  Dentine

(€)  Canine (D) Enamel

T W S A, gt o 'R g R e d
(A)  wmERT B

(C) TiEER D www

In a food chain, who is always ét the second trophic leve] ?

(A) Herbivores (B)

(C} Camivores ) (D}

T ?
(A) kSl art ( aﬁi‘ﬁa{é R

(L/”-llz A IFP-\SSIEI Page 12 of 44



On which day we canpot use solar heate.r to get hot water ?
(A) Sunny day ‘ | (B) Cloudy dajfr
(C)  Hot day " (D) Windy day
22, ﬁmmﬁﬁﬂﬁq%mmmﬁ@amwﬁ% ?
W (B) TR AW !
m FAl (D)  wHIEeN
" Which of the following is not an example of biomass energy source ?
A) Wood - (B Gobargas
(C) .‘\'tm'nilt‘T energy (D) Coal
3. GHSTA 3 BT ST &

Wmmﬁww | |

(B) W S g

© e ¥ S

o) ¥l

Page 13 of 44

(L/1)112 A ' XSP-5512




organs ?
Which are examples of homologous OTE

(A) Forelimb of human and dog

B)  Teeth of human and clephant
(C) Runner of potato and grass
D} All of these
A e F @i worme § a E o
@) wlEwR . ®) IS
C) Tree | -l])/ QTFT wT
Which of the following are present-in the anther ? ‘

(A)  Pisti1 - ‘ ' ‘(B] Ovules

Pollen grains

Al Grass, wheat and TMange (B)  Gragg, goat and human

(C) Goa't, Cow and elephant (D)

Grass, fish ang goatl

LI A _ m_ﬁ_‘h | Page 14 of 44




26.  Philosophic Zoologique T Tt fadh g foredt 8 & 2
A 3 g @) R g
© TwE K - (D) @EEW
Who wrote the book E;hﬂosophic Zoologique ?
(A) Darwin | ‘ (B)  Miller
(C) Weismann (D) Lamarck
27. Yo wE i HEt Wi @A E 2
@ wwd | @s; o 3§
(©) 1 D) TR EeE §
Where are resins and gum stored in ? -
(A)  Phloem (B) Bark

(C) Cortex | (D) 01& xylem
/mﬁ@%gwﬁmﬁmaﬁuwﬂ?ﬁ% ?

@& & | N

) - D) B

In {which of the following mediums is the speed of ligh;: maximum ? -

(A) Water " _(B) Air

(C) Glass (D) Diamond

(L/1)1 12 A A XSP-5512 Page 15 of 44




y/raqa AV FT S HGE &
|
A) s

HeAH
) iy -
S. L. unit of electric charge is

' ohm
A)  vort - (B) .

1© ampere | (D) coulomb
.“jﬂ\?f‘ﬂwm%mﬁqawﬁwﬁﬁ—qa YR ST A BT &

Overloading i

| (A)  very low

B)  very high
() unchangeq - D) none of thege -
j/;a; T BT I o o e s & 5
A" Taega Hex ®B) Ty sy
© T .,

D) ARy -
(L/1)112 A |
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In which i i
hich instrument is split ring used ?

(A)  Electric motor (B)  Elcctric gencrator
(C) Ammeter (D) Galvanomcter
;/mﬁﬁmw-mﬂwwﬁﬁwm% ?
=t N - gl i
() Ewae {9 | () TEAW

Which mirror is best suited for a solar cooker ?

(A) Convex mirror (B) Concave mirror

(C) Plane mirror (D) Al of these

33. fawaial S1 AT &
| Mﬁ 2 | B dE s i
© TR o) M

The SI unit of electric potential difference is

(A) volt ‘()  volt/ coulomb

(D) ohm

(C) ampere
page 17 of 44
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34

; 3
<M W Py ofvry #f e @ @
FreAl
A) e \(Br/

el
€ =z | (D)

i ical circuit ig
The coloy, of neutral wire in a domestic electr1

A Yellow B)  Black
O Green | (D)  Red
‘/35/ R By e e e gleit & 2
A st g e
€ (A 3k (B) (D) H ¥ #E 8

L/)I12A
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What i i i
at is the relationship between the angle ol incidence and thc angle

of refraction on entering from a denser medium into a rarcr
medium ?
(A) The angle ol; incidence is grcatex:
(B) The angle of refraction is greater
(C) Both angles are equal
(D) Noﬁe of these
a7,  WERT TR § W T
e @ A B TR |
() arﬁﬁﬂﬁaﬂﬁ?ﬁ - o) FaH
In a homogeneous medium light travels in
(A)  straight line | (B) curved line
(C).. : indefinite ways (D) in circle )
oY & G .%
w 3t
o i .
Page 19 of 44
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—~—
e

o1
EVRE I M e s
f Y 1 ‘ | .
() 1.1 _ i (D) none of these
1 1 r

W e e avmaed i BT 8 2

(Al fe B) e

€ dp,/ﬁk—vr

Which coloyr has maximum wavelength in visible light ?

(A) Yellow (B) Blue

(C €
1 Ty D) 2 ey
The focal length of any lensg jg I metre, Its power will b
ill be

(A) 15 dioptre
(B) 05 gio
Ptre

(C) 1 dioptre
P D) 2 dipotre

(L/1)112 A T — —
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-

H/i“iauﬁam‘“'“hﬂﬁwti?ﬂlﬂmﬁﬁﬁﬁmzﬁ

AR 2 )
A IR : \.EJ/’ i

Which of the following terms does not represent electrical power in an

electric circuit ? -
(&) IR - | ‘(E) IR?
© VI | | @D V2/R

vs s o st & e e vy e e

JA/ FHieR A fi. @ W wH

© @ AR g A o) T A FE T
To increase the value of resistance, resistors should be connected in
(A)  parallel | .' (B)  series
(C)” .both (A) and (B] (D) none of these
q\amtﬂar%rrﬁ?ﬂmﬁwﬁﬁ% ? |
(a) oAreEE ] FHA

() TR ) FiRA
(L/ 1)112 A ) [xsp-5512 Page 21 of 44




- of urine yellow ?

-~

Which pigment makes the colou

me
(A} Haemoglobin (B) Urochro

(C) Chlorophyll (D) Carotene

maﬁ@mﬁwﬁawm@ﬁqﬁ%?

A4)  gag (B) ST
B I S \_(py/‘?@"a
Which of the following is not a renewable source of energy ?

(A)  Wing

(B) Water

(D)  Petrol
B) IuF
(D) @i

Sexually transmitted disease is

(A) Jaundice
(B) Smali
pox

C AID
©) S (D) Plague

. [xsp-s57 2] S

Page 22 of ¥
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© e \@/ﬁm

Which one of the following is conductor of electricity ?
(A)  Sulphur (B) Plastic

(C) Ilodine (D)  Graphite

47 refelas § Q@ S TR OF T T T UF & FHA© 2

@A T : (B &

© 99 | D) A

. Which among the

ecosystem ?

(A)  Soil (B) . ‘Fungi

(€) Air . (D) Temperature
48, ﬁqamﬂraﬂmqmmsﬂam%
() forr ﬂﬂ 3
B) TR (carth wire) q

(C) 32 R (neutral wire) |

o AR

following may be biotic component of an

XSP-5512

(L/1112A
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jance i8 connece
The metal cover of the electrical applianc ‘e Wity
¢ meta .

B | Earth wire
(A) Live wire B)

(C)  Neutral wire (D) none of these

9. Friian #  frert g Aex 71 T 8T & 2
@ foga dar § - B R
© wamiEd @) T E wh

In which of the following is electric motor used ?

(A)  Electric fan - - (B) . Tape recorder

(©)  Lathe machine (D)  All of these
ﬁmw*ﬂm@qﬁﬂmaﬂ#ﬁhm}mg

Y7 it o B i ey

© @ iR ) D) ° g:,ﬁ@ 1 7

nucleus jg called

A i |
(A) nuclear fusion (B) Nuclear fission

(C)  both (A) ang (B) D) none of these

(L/1)112 A -
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1. W AT ated uRe 4 R o e b ?
(A) T2 B) @13
(C) 14 ) =@i2
Carbon is a member of which group of modern Periodic Table ?
(A) Group 12 (B) Group 13

(C)  Group 14 - (D) Group 2

/\Wﬁ‘éﬁﬂiﬁﬁﬁﬁ%ﬂm@mm% 7
\/('K]/Al : (B) - Hg

(C) Fe | (D) Cu

Bauxite is an ore of which of the following metals ?

A B He
(C) Fe (D) Cu
53, ﬂ%mmﬁmﬁrﬁaﬁtm@%-
(A) S . (g @
M | (D)
[XSP-5512] Page 25 of 44
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room temper
Ins
h remain
The metal whic

' Copper
(B)
(A) | Bromine

(D)  Nitrogen
(C)  Mercury

© 3 . - D) 4

What is the valency of sodium ?

a) (B) 2
C) -3 D) 4
B N w1 g T
A cuso, s H,0 B)  Feso, .7 H,O

FeSO4 - 7H,0

(C)  cCaso, .3 H,0

Caso,. 21,0
(L/1)112 A

——
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6. ST el & s 4 &
W e . | @ ol
€} TR o ARt
Oxides of most.of the metals are
A)  basic @ acidc
(C) neutral | (D)  none of these
57 : AL + mﬁﬁmﬁ%aﬁ%ﬁmﬁ aﬂw% ?
A) | 1 : B 4

JQA | D) 5

How many bonds are there between two atoms of a molecule of -

nitrogen ?
@A) 1 ' B 4
(C) o S

58

@& 4 | ' /
c 2 1

TIN112 A . XSP-5512] Page 27 of 44




t shell of sodiup, )
How many electrons are there in the outermos

@ 4 B3
© 2 o 1 .
59 P % ¥ e g Sk Tt FiTes T A SIS T g
AT e & 2
(A) Mg | (B) Cu
(©)  2zn @O Fe

Which of the following metals is obtained by the electrolysis of

molten métal chloride ?

(A) | Mg - B) Cu

following elements can it be ?

() Carbon (B)  Silicon
@ Iron (D)  Calcium




g FEERES
t 9% a1 vvam of A fr v & 2

(A) &
m) e
() e -
(D)
What is th
¢ colour of phenolphthalein indicator in alkaline medium ?
(A)  Green (B) Pink
(C) Yellow (D) Blue
62, Udifes 37T & [UPAC M §
@A) SRS S B) TEARH Ecs
€) TEAREE I (D) <R 3

. The JUPAC name of acetic acid is

(A)  Propanoic acid (B) Ethanoic acid
(C)  Methanoic acid (D)  Tartaric acid
63. ﬁmmﬁ@aﬁﬂ-zﬁuﬁaﬁﬂzsqﬁaﬁimﬂﬁﬁ% 2
(A) Mg (B) Zn
€ Cu (D) Al

Which of the following metals does not react with dilute H,S0,?

(A) Mg B o
‘o D) Al
IESP-SS 12 Page 29 of 44
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-

.
j‘/ﬁquﬁu@aﬁmwﬁ?? ?

&/ Aifsaa-Hicwaq (B) W’"‘ﬁ
‘(©) T (D) ”\“W‘ﬁm

Which of the following is a pair of metals ?

(A)  Sodium-calcium - (B)‘ _Carbon-sulphur

(C)  Copper-sulphur D) - Gold-phos;:;homs
65. @RI AWEY & ' | | |

(A)  TYEH H \9/ HIaT Bl ._

(C)  HIERRY F D) faferw =

Diamond is an allotrope of

(A)  Sulphur (B) | Carbon

(C) _Phos phorus | | (D)  Silicon

66. (Cupa#mqﬁwﬁaﬁ%

L B) 19
@ 2 | J.Di/zg

(L/1)112 A [Xsp-ss1a] | page 304




67.

68.

@) 17
| B) 19
(C) 26 :
o D) 29
waﬁﬁ-ﬁ? 3 T A &
) e d @) e
© ot | o) T H

Oxalic acid is found in

(A)  Vincgar

(C) Orangc (D) Tomato
ﬁmfﬁﬁﬁﬁﬁaﬁj@mﬁa@mnﬁmﬁaﬁqﬁmqﬁaﬁ% ?

(A) Ms (B) Na

© As (D) Fe

Which of the following metals does not react wid; cold and hot
water ?

(A) Mg B) Na

(C) As @ Fe




69, Frstife f @ s omer™ € 7

- Cu - Sn
(A) Cu - Zn. (B)

(C) Na-Hg (D) Pb-Sn
Which of the following is an amalgam ?
(A} Cu-2n - (B Cu- Sn
C) Na-Hg - (D) Pb‘- Sn
Frifrs & @ i uig foreger 7 W 91907 AT ¥ 2
(A) Cu | - (B) | Al
“}’/ Ag (D) Pb
Which of the following metals is the best conductor of electricity 7

(A) c{x "

(B) Al
© A fl.-‘Jl‘ Pb
v ﬁ”"ﬁ"““*ﬁﬁmmm
¥ .
qFdt ¥ o T @ ot forean
-y/Mg | B) Au
(C) Sn o '
u

(L/1)112 A : .
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which of th
e followi
ng me
tals can displace zinc from zin¢ sulphal€

solution ?
(A) Mg |
(B) Au
(©) Sh
| (D) Cu

aﬂ\m#mmaﬁwﬁsm%mﬁaﬁqmmﬁ%
(A) mzm_ B) ATTH

o oy PR

An element combines with OXygen to form an oxide. This reaction 18

B) Reduction

(D) Decomposition 3

(L/1)112 A



led
. ht are cal

th : sunligh

The Teactions thay take place by absorption of .

(A) Combination reaction (B) Photo-chemica.l reaction

9 & ecipitation reaction (lj) Displacement reaction
74 PbOH)NO, e s oy o § 7

W e @ W S

@ i e o) fafw @

Pb(OH)NO, is which type of salt ?
(A} Acidic salt (B) Normal salt
) Basic salt (D)  Mixed salt
& T HT pH O e gl 2
A I J(B/ 7
© 10 | D) 4
- What is the PH value of pure water ?

A 3 _ _ N

0 | D) 4

WJWWE%:QWW% ,

(A) Im”r -
©)  ough P

B Page 34 of 44




77.

78.

What is th
€ new
concept of waste management ?

(A) Low
‘ (B) Restructuring

(C) Reuse
(D)  All of these

q.]a':'ﬁ' R
. -ﬁa;mmma")ﬁﬁ‘mﬁmmmﬁq:

() S g @) waE & oo
() W el o) T
Which type of bag should be used instead of polythcm; bags ?

(A) Jute bag (B) Cloth bag

(C) Paper bag (D) All of these

aﬁﬂqﬁﬁ;’lﬁﬂﬁﬁa‘ﬁ-ﬁaﬁmaﬁi ?

@A) AR (él ESIRE

) TRl (D) ol & el

Which elements arc found in coal and petroleum ?

(A) Nitrogen (B) Hydrogen

(D) All of these

(C) Sulphur
page 35 of 44
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- frg 11 fHEHT T
= wm”‘"‘lfmmmzquwﬁm

1o I

(A} W A | FT1IA

€ ) 3 (@) 3 ) ZgEEd

Which of the following is used to carry rain water to the ground water
level ?

(A} Bore well (B) Dug well

Both (A) and (B) (D)  Tubewell

ﬁ%ﬁth@aqﬁﬁﬁﬁ-mwmm 19 3R 22 F Ty
Ry

(A)  Na, Mg JB/ Ca, Sc

(C) Cu, Zn (D)  Ag, Au

Which of the following pairs of elements is located between atomic

numbers 19 and 22 ?

(A)  Na, Mg -(B)  Ca, Sc
(C) Cu,2n (D)  Ag, Au
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mmm / Short Anv-wer Type Questions
T w17 smagaaﬁw#mnfﬁmﬁa;ﬁam
m%ﬁ-m"zaia»'ﬁwfﬁat: 4x2=8

Short Answer Type. Answer any 4 .questions. Each

Question Nos. 1 to 8 are
question carries 2 marks. 4x2=8
/ <t o Rt TR it e SN ¥ ? 2
Why is a convex lens called a converging lens ?
SeTeT % S = gL | 2
Explain scattering of light.
2

/ﬁqaqmﬁnmﬁmwwﬁ% ?

ou understand by electromagnetic induction ?

XSP-5512 l
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/ ”E"'Wﬁ%ﬁm%ﬁmﬁﬁ?
) : irror ?
How wiy You recognise the nature of a spherical ™
; 2
S. qﬂ?ﬂaﬁﬁmm%mmﬂ’% ?
What are the benefits of getting energy from wind ?
. . B
6. Slames duy 53 Fiat T :
What are the disadvantages of fossil fuels ?
T RS ) e @ o 4

Write the characteristics of solar energy.

You mean by that

(L/1)112 A
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7T T 9 3k ‘ |
Ioﬁmmﬁiﬁﬁ#ﬂnﬁv&rwaﬁ?é‘im

7T & 1T 6 o Fratfir &1 _
_ : ' I1x6=6

Question Nos. 9°
: . 9 and
10 are Long Answer. Type. Answer any one of them.

Each question carries 6 marks.
1x6=6

9. ’Wﬁmm%&&m&ﬁﬁsq&%mﬁm%ﬂ@ﬁ%? 6

How will you show by cxpcri:mcnt-that sunlight has seven colours ?

4
: i
-

4m§@m¢'fqﬂﬂ@ﬁmﬁmﬁq&qﬁm

100@[3&113&33?@%1

ends of a resistor of 4 ohmt if

Find the potential difference across the

100 joules of heat is produced per second.

L/1)112 A [xsp-5512]
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tions
Y I wyy / Short Answer TYP® Ques

T Ty
¥ W 11#1amwmflﬁﬁﬁ4“ﬂ?$m

x2=
¥ 7 2 st Pratfen 3 M

estions. Each
Question Nos, 13 to 18 are Short Answer Type. Answer any 4 qu

: ; ' 4x2=8

Question carries 2 marks. .

s Wﬂﬁmmmﬂwwﬁﬁv - o2
How can we conserve the water resources ?

12, ﬁq%mﬁ%ﬁm-q%@mw%&[ | 2

Write the structural formulae and names of the isomers of pentant-:.
ﬁ#haﬁﬁmaﬁmﬁqﬁﬁmmﬁmwm%é: 2
(i m(S)?mW(;q)ﬂﬁﬁW(aq}

+ TGN (g)
(i) ﬁﬁwaﬂhﬁs(aquvﬂqﬁmm(aq,_,

aﬁmm (s) + ERZIFANT 3t ( aq)
(L/1)112 A XSP-5512]
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Write the bal - ' '
anced chemical equations for the following reactions :

(1) Zinc (s) + Sulphuric acid (ag) — Zinc ‘sulphate (ag)

+ Hydrogen (g)

(i)  Barium chloride (ag) + Sulphuric acid (ag) -

Barium sulphate (s) + Hydrochloric acid (ag)

«%/F@Ww%?ﬁmﬁmﬁﬁﬁ%? S 2

What are hydrocarbons ? What are its types ?

5. wﬁarﬁﬁéwﬂrmwmm%? ' 2
What are the effects of d::inkihg alcohol on the body ?
6. WA FE ? 2
V;'l"lat is séap ';
17. @qu_ﬁhﬁmﬁiga\mﬁr@w.ﬂr%? | 2
Why is sodium metal kept immcrsed. in licrogene ?
18. @ﬁ“ R et € 2 o o ' 2
What are minerals ?
(L/1)112 A XSP-5512 | Page 41 of 44
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: A%
mm19(’?‘20ﬁdaaﬁqf,’qxf#mwﬂmil o

*ﬁfvsaiwf-}ufﬁ;,g,

Question Nos. 19 and 20 are Long Answer Type. ansie
Each Question carries 5 marks.

19,

20.

Ix§=5

r any one of them
I1x5=35

T e s o e g o & P @ R
ford ' 5

Name the main ore of mt.:rcury. Write the r'u‘iﬂCiPIC of extraction of
mercury from it.

What should be done for -water cohservation and = water
management ? https://www.bihartopper.com

- e e / Biology

g Wﬂ'ﬂ'm / Short Answer Type Questions

T FET 21 @ 28WWW§I'W#W4W$‘W$IW

"7 & forw 2 o freifiar 31

Question Nos. 21 to 28 are Short Answer Type. Answer any 4 questions. Each
' 4x2=8

question carries 2 marks.
21, YAERUTFTE ?

What is environment ?

4x2=8

L/1)112A
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What is the taste bud ?

3.  DNA TTENERT 7 amw &) &1 7

DNA is the basis of heredity. How ?

24. Twsiﬁ’iﬁﬁwwta

LY
4

What is glycolysis ?

05. IUNG (HQ FEAE ?

Who are known as consumers ?

26. mﬁwﬁ'aﬂmm% ?
How can the environment be protected ?
o7 et 3 Tt 3 ot wee A o ¥ 2

Why do you sweat a lot during summer days ?

4

(L/1)112 A
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28. TR ¥ ¥ Ofral @ e g & SEE S

= - s =2 ~ 2
Why are some diabetic patients treated with insulin injectons
T IWAYT W¥H / Long Answer Type Questions
T¥T Wear 20 UF 30 3T Fadiw &1 T & fwEr gF 1 I T FAF I

&F fow 5 3w Faifea 21 I1x5=5

Question Nos. 29 and 30 are Long Answer Tupe. Answer any one of them

Each question carries 5 marks. I1x5=35

20, FHH 9FF T & ? 98 (9 ¥R FE FKai § ? E
What is artificial kidney ? How does. it work ?

30. THY RS & Y& HE B Jeoi@ | -5

Mention the main functions of human brain.
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